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REVIEW QUESTIONS 
 

Read the following questions carefully. Work the answers and select the answer from the list 

below. Show your workings 

1. QUESTION 

A primary school has thirteen classrooms. If each classroom needs 18 desks,                                 

how many desks are needed?   

 

 

 

Answer = ____________________ 

 

2. QUESTION 

A stadium has 315 seats. They are placed in 9 equal rows. How many seats are in each row? 

 

 

 

 

Answer = ____________________ 
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3. QUESTION 

Which of the following will NOT give the answer for 6 x 748 = 

 (700 x 6) + (50 x 6) – (2 x 8) 

 (748 + 748 + 748 + 748 + 748 + 748) 

  (700 x 6) + (40 x 6) + (8 x 6) 

 (6 x 50) + (6 x 7 x 100) + 48 

 (6 x 374) (6 x 374) 

 

 

4. QUESTION 

What is the product of 675 and 32? 

 

 

 

 

Answer = ____________________ 

1. 5. QUESTION 

Farmer Brown has 16 bales of hay. They weigh 2000 pounds. How much does each weigh? 

 Answer = ________________   
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6. QUESTION 

1577 ÷ 28 = 

 

 

 

Answer =   remainder  

7. QUESTION 

Multiply 600 and 517. 

 

 

Answer = ____________________________ 

 

8. QUESTION 

A bag has 755 gummy bears. Soraya and her four friends want to share them equally. How many 

gummy bears will Soraya and the friends each get? 

 

 

 

 

Answer = ____________________________ 
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9. QUESTION 

Paulie the parrots loves peanuts. A shopkeeper has 675 peanuts in a bag. If he gives Paulie 25 

peanuts each day, how many days will the peanuts lasts? 

 

Answer = ____________________________ 

 

10. QUESTION 

KC has a dozen boxes containing 8 packs of sweet a box. Each pack contains 50 sweets. 

a.  If the sweets are repacked into larger boxes that can hold 12, how many packs of sweets 

would KC now have? 

b. How many sweets can be packed in a larger box? 

 

 

 

 

 

 

Answers = a) ____________________________ b) _____________________________ 


